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H & 0l & A E Al A
20228 = = 0llah LBt S Jtel 3 Al
AR PILIE N
Hm: QlAHY 29
chel: QIAMFNAHIA MBS (el &3
= X XH Ct2l (S = o HASZ OH x‘—-IL'i'E =2}
Tkl'ox—|'|_|"l‘|(21)")'k"—rA|'|=|"}£o—1 0:"‘&'—| O:H&.OH t”DLEI:I
ol ot A 13,328,674 19,446,323 A6, 117,649
= 1,530,853
s 1,012,000
< 257,320
s 10,528,501
QIRHE 249 176,329 125,143 51,186
= 25,760
s 150,569
QIAHF MHIA MB 176,329 125,143 51,186
= 25,760
s 150,569
QIAHE 23 41,250 52,375 211,125
201 LetEdy| 17,400 4,200 13,200
01 At 22|l 4,200 4,200 0
ORIAA MAEH 22| 100,000 12& 1,200
QRIA==2 JtEAN F& =2
3,000,000& 14! 3,000
02 5223l 13,200 0 13,200
ORIASEUHEA BS=EX sldAE=
5,500 2003 & x12& 13,200
203 PR F2AY| 5,000 5,000 0
03 Al =X R A 5,000 5,000 0
ORAHMH AIMFZ 5,000,000& 14! 5,000
303 Z& = 3,200 2,200 1,000
01 &3 3,200 2,200 1,000
ORI Xl OtdelXl =K Al
2,000,000& 13l 2,000
OXEZSRE & 1,200,000& 12/ 1,200
308 AtXIEHHSOIA 15,650 10,975 4,675
11 3 2SOHEZ & E P E AL I 15,650 10,975 4,675
OXMI FRSEHZAAE KA EHI
15,650, 0003 * 14! 15,650
SEd L8 23 94,096 29,976 64,120
201 LetEdy| 36,096 29,976 6,120
02 5223l 36,096 29,976 6,120
OSEEYELSI RAES
71,5003 120 = 12& 10,296
ORLLUALZI| RAES
150,000 *10CHx12& 18,000
OflA HIaHW KRIE= 110,000& x12& 1,320
ORQLUALZI| RSN Z
180,000 +3CH*12& 6,480
405 KHAHF SHI 58,000 0 58,000
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AR PILIE N
My IANY 2
el QHEIMEIA WS (&= 8d)
= i N
SA-BY.SASH) - RN - B ol &t S HIDE
01 A =EFSH 58,000 0 58,000
ORURWZI| TY (LYY, YHSH)
29,000,000 ~2CH 58,000
HNEE ALRXel 15,223 15,224 A1
201 £et24E| 15,223 15,224 A1
01 AtR2telH 12,370 12,370 0
OFRUSES LSHIS(ZH3A
500,000 122 6,000
O=xUSES - ==& 78 1,070,000& 14| 1,070
0012, ZOIAIAOIZY SAYHEX 2
1,000,000& * 14! 1,000
ONESY LaeAal oIy 2,000,000& * 14! 2,000
OF2USE & 2SS 78 2,300,000 *14] 2,300
02 s5=3H 2,853 2,854 A
OYRHe SHESE 2,853,000 14 2,853
IISZAHSEMR XS 15,760 17,546 A1,786
= 15,760
201 2823yl 12,460 14,246 A1,786
= 12,460
01 AtR2telH 12,460 14,246 A1,786
OIIE2H SEAR 2258 7
12,460,000 14 12,460
= 12,460
202 (4l 3,300 3,300 0
= 3,300
01 =Woddl 3,300 3,300 0
QIIE&NA SEAMNT Y 550,0002*6)H S H 3,300
= 3,300
ol &3 10,000 10,022 N2
= 10,000
201 fet2 4| 10,000 9,022 978
= 10,000
01 Ab=2t el 10,000 9,022 978
oOudes AtR2c 10,000,000 141 10,000
= 10,000
A=dE 24 128,400 75,200 53,200
A5y 29 128,400 75,200 53,200
AF510F 2o R0 80,000 30,000 50,000
301 LBtENS 80,000 30,000 50,000
12JIe2d= 80,000 30,000 50,000
OAEEI} HoAS o422
300,000& %1004 30,000
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SA

CBILIEIN
Hm: ARHY 29
o9l ASHN 2 (el &
= e &
SN B CR(BH) - MRAY - BES Ol &t o S dImEET
CEENNENEENEE N
100,000& *5004 50,000
Az 48,400 45,200 3,200
201 Lt | 24,400 13,600 10,800
01 At 22l 24,400 13,600 10,800
ONYASSRE| FaSY 70,0002 102183 5,600
OABZTUR0F HNET HYR
10,800, 0003 * 14! 10,800
ONYASARE ML
100,0002 #1001 483 8,000
202 04l 4,000 4,000 0
01 =LHOIYI 4,000 4,000 0
OFBNEZ T .G L OIBAHS T4
20,000& *421+503] 4,000
401 Al &8I L S THY| 20,000 10,000 10,000
01 Al&HI 20,000 10,000 10,000
OTAMELASS SATYIAL
20,000, 000& *14] 20,000
MBI =J{otH 1,909,604 2,030,307 A 120,703
2 1,230,224
= 162,320
= 517,060
Dsxe FIHOH 230,500 239,500 9,000
Isxeze 230,500 239,500 9,000
201 Lt | 13,500 13,500 0
01 At 22l 13,500 13,500 0
OFSALAANE AoI9IH Falsg
70,000& *1021 %53 3,500
OFSALAAIE AoISIH MALT
10,0002 #1001 %53 5,000
OTSFY AHEY 200, 00021 +53| 1,000
OZST ARz 1,000, 00021+ 14! 1,000
OBEFY ALINUA BAL22
3,000,000& *1 &K 3,000
202 01| 1,000 1,000 0
01 2LH0i | 1,000 1,000 0
OBTSFY HZHY 20,0002 %221 %253 1,000
307 glztol A 16,000 25,000 29,000
02 QIZtBAAIEE X 16,000 25,000 29,000
OZEFY PAS HI2N
500, 0002 %32+ X| 16,000
402 P12 X201 A 200,000 200,000 0
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=N EOIRIRA
M Ol F=){OrE
el BEXS FHOHE CEERE
M L5
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
01 QN EAMSE R (RHMHH) 200,000 200,000 0
OBSFY NS4 N
25,000,000% = 10EH X1 «80% 200,000
SO0lE dEsd o 95,000 70,000 25,000
sZ& YUY EHIAMS (HEAMY) 95,000 70,000 25,000
308 AHXIEHHMSOIH 30,000 0 30,000
1 SIS0 HetE & E S AL 30,000 0 30,000
ovly AEiZA Y 30,000,000 14! 30,000
401 Al HIZL 20l 20,000 20,000 0
01 AlEHI 20,000 20,000 0
Os& cSA=SSEHIAY 5,000,000& *4= 20,000
402 It X=01 ™ 45,000 50,000 /5,000
01 XN EAMSE R (RHHH) 45,000 50,000 /5,000
OsZ BEEA (24 3,125,000 *18+0.8 45,000
NasE FHerd K& 1,584,104 1,720,807 136,703
= 1,230,224
S 162,320
= 191,560
S DI =YE=ZT K 12,000 12,000 0
202 044 2,000 2,000 0
01 =W HHI 2,000 2,000 0
O=CII=S NS SIS H A
20,0002 »2& «502] 2,000
401 Al HIZL 20l 10,000 10,000 0
01 AlEHI 10,000 10,000 0
OSXESY U HAAHE SHZA
1,000,000& *x10& 10,000
FH2S0 1,493,904 1,657,207 A 163,303
= 1,195,124
S 149,390
= 149,390
301 LBtENS 1,342,821 1,328,202 14,619
= 1,074,257
S 134,282
i 134,282
01 M2 2EE 6= 1,342,821 1,328,202 14,619
QJlzdg=2d+s5l FH2E0
111,901,750 x12& 1,342,821
= 1,074,257
< 134,282
= 134,282
403 XXM SA=201 A 151,083 329,005 ATT7,922
= 120,867
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X ZH .
(== I

EEE

B
X
0x

ﬂ
m
o
B
=
1=
1o
=
11}

AR

04l 4 o

=[x

i
J12H

M HY

15,108
15,108

Oll CH &t Xt = & 2 & AL H

7,194,390 214

M H

151,083

151,083
120,867
15,108
15,108

329,005

AT77,922

H A

7,600
3,800
1,140
2,660

7,600

401 Al HI LSO

H

7,600
3,800
1,140
2,660

7,600

01 Al&HI

OS0E ZOHQIFE HEAL

3,800,000& 29t

HH W

7,600

7,600
3,800
1,140
2,660

7,600

0
1
p
10
-
I

He0 A&

M

8,000
2,400
5,600

6,000

2,000

M

8,000

2,400
5,600

6,000

2,000

g =dRXA FAs0 NH

4,000,000 *2It =

M

8,000

8,000

2,400
5,600

6,000

2,000

HHEAM stAl SEXNZE ALY

M H

62,600
31,300

9,390
21,910

62,600

M H

62,600
31,300

9,390
21,910

62,600

01 At2| 28X =563

OHUHA BHAl SEX
2

o

o

]
0,000& #26.083& «12&

H

62,600

62,600
31,300

9,390
21,910

62,600

500,000

4,614,600

A4,114,600
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SA
cH=EnE 4 A

X‘I iH

CBIEIETN

o SFHABEHOIE 22l EEEEE
= = X L=
SA SR (S) - MRAY - BAS il &t e RS2
SZ0BHDIE 22l 500,000 4,614,600 AN4,114,600
SIHABHOE &3 500,000 4,614,600 AN4,114,600
401 A& HI YL 20HHI 500,000 4,584,600 A4,084,600
01 A&l 500,000 4,393,000 23,893,000
OLAZEHAUEDIE OI™ALH ZSAHHI
500,000, 000& =14 500,000
=PIl -1} 22,000 23,780 A1,780
EPNPL = 22,000 23,780 A1,780
SA L e 22| 22,000 23,780 A 1,780
201 et Fy| 17,000 17,580 A580
01 At 22|l 17,000 17,580 A580
OZHFSSK Y242 500,000 +103] 5,000
OSYMNLHR S 500,000& *102] 5,000
OMLHS ZHEHSARS B2
100,000& 721 %103 7,000
202 04| 5,000 6,200 A 1,200
01 =LHAYI 5,000 6,200 21,200
ONLHSIT I BEER O]
20,000& *32!x503] 3,000
O=sXN&EE5I HEEENUI
20,000& *221+5038] 2,000
AR 2tel 13,000 1,011,600 998,600
AKXl OHE 13,000 996,600 A983,600
AHE JHE e 22 13,000 196,600 A183,600
202 o44| 3,000 3,000 0
01 = LHGYI 3,000 3,000 0
OuXNEEX SFEHZ ¢l
20,000& *321+503] 3,000
207 & 20 Y| 10,000 10,000 0
02 & AR Y| 10,000 10,000 0
O&XI 72 KLIS SM 8 100, 000& * 10024 10,000
ANEHH JIgr2 st 2,899,683 2,777,072 122,611
= 94,869
& 5,000
o 2,799,814
K& zel 155,340 76,220 79,120
NESSIEE 2t 124,000 44,880 79,120
201 et Fy| 103,000 23,400 79,600
01 At 22|l 103,000 23,400 79,600
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S H:
7(‘| il—l:
C|—O| :

BN
A= I+ st
A= 2zl

% = &
SN B CR(BH) - MRAY - BES 0l et S HRE2
ONEZZPIIZEE Ha & oA
100,000,000 *14] 100,000
© =FZIUT Hteld 60,000& 50 3,000
308 AtXIHHSOIA 21,000 21,000 0
11 3 2SOCHEZ & E P E AL I 21,000 21,000 0
OXNEIIEE LHMIZAL AFY 12,0002 %1,750& 21,000
ANHHE 2t 1,340 1,340 0
201 LetEdy| 1,340 1,340 0
01 AL 22l bl 1,340 1,340 0
OXNSsHI=ELX EX 4l & ELH]
1,340,000& =13 1,340
EXNSE 2l 30,000 30,000 0
201 et Fy| 26,400 26,400 0
01 At 22|l 26,400 26,400 0
OSEANSHH(EREX) EXNFe
300,000 *33& X 9,900
OXNEZREL2FREHI 30, 0002 *550E X 16,500
202 04l 3,600 3,600 0
01 =L YI 3,600 3,600 0
OXNEHR SXIEA Ul 20,0003 32160 3,600
NEFE 2tel 220,245 275,329 255,084
= 34,382
i 185,863
HESAIKIE ZAL 28 68,764 68,764 0
= 34,382
i 34,382
201 et Fy| 67,764 66,764 1,000
= 33,882
i 33,882
01 At222ld| 67,764 66,764 1,000
OHESAIXIt BE===E
43,600% x54,905E K| 23| /83 57,684
= 28,842
i 28,842
OFSAIAZSARRS &S
70,0003 1121 %43 3,080
= 1,540
i 1,540
O3AIXIIt SR 2EHI 3,000,000& 14! 3,000
= 1,500
i 1,500
O3AIXIIL & L O|2ME 8
4,000,000 *14] 4,000
= 2,000
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A oot

#
M (A
(== I D o
=

& NEEFE 2tel (che &S
% = o= &
SA B CR(S]0) - MIRAY - BAS Ol 4k ot e jmE=ET
s 2,000
202 04 1,000 2,000 A1,000
= 500
i 500
01 2oyl 1,000 2,000 A1,000
OMLEBAIXIIL EXSE T A
20,0003 *121x503] 1,000
= 500
= 500
ANEFE 29 22 130,481 171,565 A41,084
201 et gy| 67,281 51,365 15,916
01 At 22|l 210 210 0
OXNEAS &HA = 70,0003 *321%13| 210
02 2223l 67,071 51,155 15,916
O=IEUEE & SFSUSESRALE 2K
2= 59,691,000 14 59,691
ONIKETH IAAE FAE=>
65,0003 *7CH*12& 5,460
OXNEMLD E=2e&) FAES
160,000 « 128 1,920
202 04| 3,200 3,200 0
01 =L YI 3,200 3,200 0
Oas=~0I 100,000 121 x123| 1,200
OAHEYS B & FTIA
20,000 *291%403 1,600
OXNEHR SEHIZA 20,000% *121%203] 400
207 A IR 60,000 60,000 0
02 & AR Y| 60,000 60,000 0
OSXNHIISE Hbtst 2=
60,000,000% » 14! 60,000
dRgz 2o 22 21,000 15,000 6,000
201 L2 Y| 21,000 15,000 6,000
01 At 22|l 21,000 15,000 6,000
QJIIEEAR =2 1,000,000& x16H 16,000
OZEZANEXIIL B3 === 50,000& 1002 X 5,000
FAAMY F=A 64,786 69,356 A4,570
(= 5,000
i 59,786
=Y Y H2SUYS 2 54,786 49,356 5,430
201 L2 Y| 4,280 6,338 A2,058
01 AtR2teltl 3,560 3,560 0
OZ2HZFA EZ(28) 3,000& *1,00004 3,000
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AR BILEIEIN
Mo ™Y J|eyst
Sl MEAAY FZ (el ®9
= — &E
SN B CR(BH) - MRAY - BES Ol &t o S dImEET
EEEEPCEE=EN=,
70,0002 %821 %13] 560
02 B2 720 2,778 A2,058
OTRYEA HIFIA 2| SM2
20,0001 #1224 *3CH 720
308 XHXIEHHI SOl & 23,806 21,918 1,888
11 21 2SOl CHEH 24 = IS ALI b 23,806 21,918 1,888
OERUZA NFALTDAAY SX 24|
18, 116,000 * 14! 18,116
OT2YFEALIIZE SXBS 5,690,008 14! 5,690
401 Al & HI L 2 THH| 26,700 21,100 5,600
01 AlZHI 26,700 21,100 5,600
OASHSH x| 7,002 +3007H 2,100
SEYAEES RXE4H 300,0008%300H 9,000
SEYE AR 83 200, 00024 *507H 10,000
ONSFLT X 70,0002 *807H 5,600
CE2Y Y ASHUSES 10,000 20,000 10,000
= 5,000
2 5,000
401 Al &8I L 2 THH| 10,000 20,000 10,000
= 5,000
2 5,000
01 AlZHI 10,000 20,000 210,000
OT2YFAHAL SXURN 2SS
10,000, 000! * 14! 10,000
= 5,000
2 5,000
ZoEE AY 2X 929,200 2,048,800 ~1,119,600
KGHAIE S ®ASH ALY 42,200 37,800 4,400
201 L2t 41,200 36,800 4,400
01 AR 2t2lH] 1,400 0 1,400
ORIGHNBIISAANE] AA L BA 25
200, 00021 +79! 1,400
02 B2 39,800 36,800 3,000
OTAWBESEBEIALEY XS4
3,316,666 1274 2 39,800
202 01| 1,000 1,000 0
01 2U401 8| 1,000 1,000 0
ONGHAIEE Hatst 8F ZAl
20,0008 x201 +252! 1,000
T2 YL NGHAIZES TASH SHAA () 887,000 0 887,000
207 1ot 887,000 0 887,000
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SA

1) REIR=RN
M XESAE J|PAF
ool ZARE A =X CERE
bS]
SA-BY.SASH) - RN - B ol &t S HIDE
02 & AHH 2] 887,000 0 887,000
OS2 2 XISAIEES HASH SHAFAL (H)
887,000,000 * 1Al 887,000
K= TH = AFAFS 1,530,112 307,367 1,222,745
=2 60,487
= 1,469,625
KETHEALALY =& 60,487 228,267 A 167,780
= 60,487
201 LBt AH| 60,487 228,267 A 167,780
=2 60,487
01 At 2t2/H 60,487 228,267 A 167,780
OXIETHZAALSY =X (Z2HH|)
55,720, 5002 * 14! 55,721
=2 55,721
OXNETHEAAIY =X (J=EHA=H|)
1,886,000 x 14! 1,886
=2 1,886
OXETUEAAMS =& (22H])
2,880,000 x 14! 2,880
= 2,880
KIETHEAALSY 22 1,469,625 79,100 1,390,525
201 L2 A H| 48,800 75,500 226,700
01 At 2t2/H 41,300 67,500 226,200
OXH2 ME LTI 242
50,0002 *300% X[ «2 Xl 30,000
OXIEMZEAL JIZA H&H 50 %50, 000 2,500
OZHZHAXS L NEHEAIRRS] EHA2
= 70,0002 *501 +83] 2,800
O KNEMWEANEESE 5,0002 *1,0007H 5,000
O KETWEA FLIHHF| 2|
1,000,000 * 14! 1,000
02 222 7,500 8,000 A500
oORWUBR2 3,0002 *2, 500 X 7,500
202 O H] 3,600 3,600 0
01 2ol 3,600 3,600 0
O KEMWEA SOAMET 2 AHEO 28
20,0002 *301 x5 122 3,600
301 YBtE A2 1,417,225 0 1,417,225
12 JIEtE A2 1,417,225 0 1,417,225
O XNETHEAM ZES(HEUA)
1,417,225,0002 14! 1,417,225
ots=x =&A 7,361,319 8,519,920 A1,158,601
=2 180,000
= 1,012,000
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D oot
VS

Al

=
=
o&

NEHEH X

o X {0

= 2

=
=
C B0IS

= = — X L=
SA SR (S) - MRAY - BAS il &t e RS2
< 90,000
o 6,079,319
OtSEX2dE K& 7,361,319 8,519,920 A 1,158,601
= 180,000
s 1,012,000
L= 90,000
i 6,079,319
SOISEXAME A=(XA) 3,169,568 3,317,587 A 148,019
401 Al HI L2 0HHI 1,072,000 700,000 372,000
01 A&l 900,000 700,000 200,000
ORXE4H L SAtH] 900,000, 000& * 14 900, 000
02 Zeldl 172,000 0 172,000
oZeltl 172,000,000 »14] 172,000
402 212+ X201 A 2,097,568 2,617,587 A520,019
03 SIZ2tR E AL I 2,097,568 2,617,587 A520,019
o=3g0oeold dE(stU3E)
2,097,568,000& *1JH 2 2,097,568
JIEdH HE (MES0C) 3,456,000 1,200,000 2,256,000
s 900, 000
o 2,556,000
401 A& HI YL 20| 3,456,000 1,200,000 2,256,000
s 900, 000
o 2,556,000
01 Al&HI 3,456,000 1,200,000 2,256,000
O JtEMH HE 3,456,000,000& * 104 2 3,456,000
s 900, 000
o 2,556,000
S M2 T4 (MES0C) 217,000 0 217,000
s 112,000
o 105,000
405 KHAHF SHI 217,000 0 217,000
s 112,000
o 105,000
02 =7l 217,000 0 217,000
OX/E2EAME THFLHI 217,000,000& 14 217,000
s 112,000
o 105,000
=SS HE0E S#=5(EEHE0IE) 518,751 0 518,751
= 180,000
L= 90,000
i 248,751
402 212+ X201 A 518,751 0 518,751
= 180,000
& 90,000
o 248,751
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Al

=
=
o&

|
FX2MEH K&

SN 50K
M OlS=
o9l SO0tS

- _ - &
SN B CR(BH) - MRAY - BES 0l et S HRE2
03 QIZ2t2 EF AL HI 518,751 0 518,751
OBYOEOIE MF(23E &5)
518,751,000& 518,751
= 180,000
& 90,000
o 248,751
HE2AAH|(SIIRIA) 310,339 268,701 41,638
ol 23| 189,561 163,073 26,488
AR AEH|(GIItRIRAA) 189,561 163,073 26,488
101 124 H| 189,561 163,073 26,488
01 2= 182,129 156, 111 26,018
oOxU=2Rd 10,8413 3521 480 Al 2+ 182,129
0B SRH(RIAHL) 222+ 7,432 6,962 470
O&tx|2e| SLHE 5,115
OAZtel=E 14,2063 *221 %120 Al 2% 150% 5,115
sAoHeae 2el 2,317
OA2tel =% 12,868& *121%120 Al 2t % 150% 2,317
Jl22&l 120,778 105,628 15,150
Jl2dyl(siotelaial) 120,778 105,628 15,150
201 et gy| 60,498 52,788 7,710
01 At 22|l 60,498 52,788 7,710
oget=ZH| 34,500,000 14! 34,500
Oz &l 13,440, 0003 » 14! 13,440
oYXtz 12,558,000& 14 12,558
202 04l 49,000 41,800 7,200
01 =L YI 49,000 41,800 7,200
OYRFA JI20HI 49,000,000 14! 49,000
203 HRF&H| 11,280 11,040 240
01 J|22F R 6,000 6,000 0
QI|&A2IHRFAY| 6,000,000& * 14! 6,000
04 EN2SLRFAH| 5,280 5,040 240
OFAM2IHRFEH| 440,000 « 128 5,280
34 29 8,000 0 8,000
234 2¢ 8,000 0 8,000
S3HE 29 22 8,000 0 8,000
201 et Fy| 5,000 0 5,000
01 At 22|l 5,000 0 5,000
OTBTASHCIRAS| yol+g
100,000& x5& 103! 5,000
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S BRI
N Z3H=E 2¢
o9l BRAE 29
= = — X L=
SH-EH . G(SH) - MPAY - BES Ol 4k ot S
Of & o
202 04| 3,000
01 = LHGYI 3,000
O34 A& & ¢l

100,000& *3&H «107H 2 3,000
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